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C:) 	
ELECTIVE COURSE : ECONOMICS 

EEC-13 : ELEMENTARY STATISTICAL 
METHODS AND SURVEY TECHNIQUES 

Time .: 3 hours 	 Maximum Marks : 100 
(Weightage : 70%) 

Note : Attempt two questions from section—A. Four from 
section—B and two from section—C. 

SECTION - A 

1. "Average is a number indicating the central value 20 
of a group of observations". How far is it true for 
mean, median and mode ? Give examples. 

2. You are asked to collect data on extent and nature 20 
of unemployment in urban areas using the sample 
survey method. Design a questionnaire for the 
same. 

3. (a) Define mean deviation. How does it differ 
from standard deviation ? 	 10+10 
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(b) Prove that mean deviation from median is 
less than that measured from any other 
value. 

4. 	(a) Define Karl Pearson's Coefficient of 
Correlation. What is it intended to 
measure ? How would you interpret the 
sign and magnitude of a correlation 
coefficient. 

(b) Find out the Karl Pearson's Correlation 
Coefficient. 	 8+12 
Weight 	Height 
(/b) 	(Inches) 
100 	48 
105 	49 
104 	50 
107 	51 
111 	52 
115 	53 
125 	54 
130 	55 
132 	56 
135 	57 
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SECTION - B 

5. What is cluster sampling ? Discuss advantages 12 
of cluster sampling. 

6. What do you understand by secular trend ? 12 
Briefly discuss the methods of fitting polynomials. 

7. Define independent and mutually exclusive 12 
events. Can two events be mutually exclusive and 
independent simultaneously. Substantiate with an 
example. 

8. What is meant by conditional probability ? State 12 
the addition and multiplication rules of 
probability. 

9. What is t-test ? How is the test used to examine 12 
the significance of the difference between two 
samples ? 

10. Define the probability distribution function of 12 
binomial distribution. Under binomial distribution 
on an average 9 ships out of total 10 ships arrive 
safely to ports. Find the mean and standard 
deviation of ships returning safely out of a total 
of 500 ships. 
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SECTION - C 
11. The probability that a boy will get a scholarship 	6 

is 0.40 and that a girl will get a scholarship is 0.50. 
What is the probability that at least one of them 
will get the scholarship. 

12. Construct a histogram of the following data. 	6 
Class 	Frequency 
0-10 	4 
10 - 20 	6 
20 - 30 	14 
30 - 40 	16 
40 - 50 	14 
50 - 60 	8 
60 - 70 	16 
70 - 80 	5 

13. Write properties of the chi -square distribution. 	6 

14. Construct Paasche's quality Index from the 
following data 

Commodity 1996 2006 
Price Quantity Price Quantity 

A 4 10 5 12 

B 6 8 7 10 

C 10 5 12 4 

D 3 12 4 15 

E 5 7 5 8 
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EEC-13 	 6 



5. Arti=4 ,41 TIT t? 	A 	 "1" 	12 

TrEA-71 

6. q'Nchircicr, ztr9t 3Trq ;Err TP:reA t ? 	 rid 12 

ctA 	rar .T1144'414 -.NI .A1-71r, 

7. , 117.1 	4-Lik aTiTTA hid-HA 	lI 	12 

err  	TrpT ,-R..■+( 31-Era-Al 7-4 	 
t I *ilciwn -aftz .wlf7 

8. 7;fr74"4 5Ilrgoncii 	Tr alfiTART t ? Al qchtll t*ITIF 	12 

qui-i f9711,4 	oticti W-471 

9. t-TRIvot cwiit? 	 TRI-kTi3TT Aq) 4 1t 1;ff 	*a1=r 12 

*3-td7 	4i-c4 ctA AA* fWzri 	 t? 

10. fgcrq 	* 	411101 oldl Lii(11 	trft4-TrF6Ff --11-=A7I 	12t 

igtrq size 	31.-dri7 10 ,TikTi). 	ati-dff 9 	1:31 

	 1 tT14 	cm* 	 t I r 500 q•- •r1•14 

tkikiffrilza air) ,Iwgi). 	T11 9:f7-4 1-11-Ich 

10 wlfA-R i 

EEC-13 	 7 	 P.T.O. 



4.TPT - Tr 

11. Wik 	W7-1F9. 	7:r4. 5t qchtll 0.40 t 3 Z 	6 

7- "-4• -fgr-7ft, 71-4-  0.50 t 1 NIRNI(11 WIT t 

cli 1-1 -4 oh 4-1 	.> 	.UTTIfff fgAt 1 

12. 14-ici (51 3 s -WE 3117F 	-c171 .4-ff77 I 
	

6 
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0- 10 	4 
10 - 20 	6 
20 - 30 	14 
30 - 40 	16 
40 - 50 	14 
50 - 60 	8 
60 - 70 	16 
70 - 80 	5 

13. quIM:4 -W-u7I 	 6 
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"a9 1996 2006 

ICIFT 4 .0-11,11 4 •041,11 

A 4 10 5 12 
B 6 8 7 10 
C 10 5 12 4 
D 3 12 4 15 
E 5 7 5 8 
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